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Time: 3 Hours Max. Marks: 75
Answer any Five Questions
All Questions Carry Equal Marks
g Explain the following general items of work mvolved in- the estlmatmn fora. bulldmg along ----
with the process of alculations. /. fuak y : ; P

“a) Earthwork in‘excavation. F

b) Earthwork in filling.

¢) Brick flat soling.

d) Cement concrete in foundation.

e) Masonry work in foundation.

f). Damp proof course. ... - P PR oo

g) Masonry workin superstructure g,
/h) 10'cm thick brickwork. Fo N hed 18] N S

2.a)  Explain the earthwork in excavation in foundations of buildings by
i) Long wall — Short wall method.

ii) Centre line method
b) Enumerate the dlfferem methods of butlding estlmates and explain them [10+5]

Y Preparg_a detalled estlm_;_l_te for earthWork fora portlon of aroad frqm lhe folTowmg data """""""" .
T — RL of the formation
RL of ground 115.00
0 114.50 Upward gradient | in 200 up to 600 m
_____ 100 a1 |
______ AN A AT AN N AT Ly
V3008 /| 31152/ :
400 116.10
500 116.85
600 118.20
700 118.45
. 800 s o IB3D 4 A i M i —
...... /%1900, A7 17107y | | AR I /N (YT . &
L1000 7| N 117.80 "
1100 117.90
1200 117.50
Formation width of road is 8m, side slopes are 2:1 in banking and 1 1/2:1 in cutting.[15]




4.a)

b)
<)

7.a)

Prepare rate analysis for
1) RCC work in slabs 1:2:4.

ii) 1 class brick work in superstructure w1th 1:6 CM

profit.

Discuss various types of contracts in construction along with their suitability.

Explain different methods of depreciation. [5+5+5]

The formation width of a-road embankment is 10.0m. The'side slopes are 2.5:1. The dcpths """ 5 A

,along the center Jme of road at 40 0m intervals ar&l 2, 1.1 1.4, 1 2/ 09 I 5 and 1 0m It ._,-{-.3.\

.f‘bunlt-up portion/in 25'm % 30 m. The ‘building is “first class type and provided with water. ..

supply, sanitary and electric fittings, and the age of the building is 30 years. Workout the
valuation of the property. Assume plinth area rate is Rs. 400 and cost of land as
Rs. 7000 per sq.m. [15]

/is requiired to calculate the quantity of earthwork by Prisinoidal rule. [15] "t

Explain the Prismoidal formula and Mean - sectional area method

Derive the formulae for earthwork in the following situations:

i) Partly in cutting and partly in banking (ii) when transverse slope existed. [8+7]

A bulldmg is sﬂuated by l:he side af a mam road of; Mumbal city ona land‘ of 600 sq. m ‘The _h\



